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(D). sem (t)=A cos[27r fct+kpm(t)]
instantaneous angle 6, (t) =2z f t+k m(t)

: k, dm(t)
tant f f(t)=f +—~—/
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(2). seu (1) =A cos[Z;: ft+27k, I;m(r)dr}
instantaneous angle 6, (t) =27 .t + 27k, Lj m(z)dz
instantaneous frequency f, (t) = f, +k,m(t)
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Solution 2.
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Solution 3.

s(t) = A_cos(O(1))
O(t) =2z ft +k,mlr)

Let < 0.3 for m(t) =cos(2z £, 1).

~8(t)= A _cos(2z ft + fm(1))
=A [cos(2z f.t)cos(fcos(2x [ 1)) —sin(2x f.t)sin(fcos(27z [ 1))]
for small 3 :
cos(fecosrf 1)) =1
sin(fcos(2z f,t)) = fcos(2x £, 1)

~s(t)=A cos(Qr ft)- A sin(2x f.t)cos(2x [ 1)
=A_cos(2x f.t)- ,8%[sin(2;r(fc + ) +sm2z(f. - f,)0)]



